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\Which mode of transportation do you
mostly use?
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\Why?
112 responses
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\Which mode of transportation would you like to
use?
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Public Walking Biking Driving Cycling Bikeshare E-scooter
transit
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\Why?
8/ responses

active transportation
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Transportation problems you want to solve?
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wheeling down the road

lackluster public transit

pricing for fare tickets

takes no effort

wheelies are fun on bikes
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\What can you do to solve some of the issues?
48 responses

to tell us when the bus
communication to company

give suggestions to compa DTN
fterally nothing spread awareness seperate bus lanes
use public transit more sure
climate change  giminish car culture improve walkability

oring back trams
support density

wheelies
nOth | ng apps with real time data

sue
encourage public transit

take more public transit

meaningful conversations
more public transit

im complain

spread the word

research
make a bus app

pbudgeting

advocate




